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@ 2 y=/(), y=g() BLU2EM x=a, x=b THENLHFO|
WES /)20 %o S={ (f@)—g@)}dx ;,
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POEEER (x, 0) 95 &, QR 2xtAME T3 EHBOER S(x) 1&
S(x)=2PQ%*=2y" LIZAT, x*+y*=4 75 y*=4—x°
L7225>T S(x)=2(4—x%)=8—2x2

rot v={ swar={ 6-2xdr=2[8r— 2]

R e e

2
o 3

508 st y=9—x% (—3=x=3) L xWMITHINZESD, yv#HOEHIZ1
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(2) x=2(cos8+68sin@), y=2(sinfd—0cosbh) (0=0=n)
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S:¢1+x2dx=a L35,
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523 KkO&ME TR LM HER TEL,

*1) HELEOS (v, v) O yEEEZOEICBIT A BROBEIEICE LY,
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. Q@r+1)m . 1 . @r+Dr
L7295 T Sk=S e"xsmxdx=-7 [e"‘(cosx+smx)]
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535 XM a=<x=b (0=a<b) T f(x)=0 T2, WM yv=r(x) & x#B &
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